Joooon
ooooboobggobooboguoognn

goobo3rob o oo

b 1902020

1 00

vbooooooobobobooooobooooooa
oooObOOooooooboobooobobooooooobo
obooooooboooooooobo0oooooooDDoo
ooboo0ooooboooboooobboobobobooDboo
goo

2 OOoood

gboooooooboooobooobooooooao
ooboooooooooobooooobooooooooo
goooo

21 00000000

0000000000 X0O0O00000000o000
000 YOOOODOOOOOXO0OO0O0O00O00000
00000000 X={abc0X000000 P(X =
a) =1/2,P(X =b) = 1/4,P(X =¢) = 1/40000¢
0D0Xx00 Y*(y*0Yy0000000000000)0
0000000000000

av+— 0,
P br— 10 ,
c+— 11 .

O 1a1) | ()

[g % 'O oy [ ¥
0 L 1/2
[{ }a 0 o

0
FigLl. 5 A

B Eb%0=(1/2,1/2) £ ¥ 5.

Figl O Intervsl Algorithm 00000 00O
[Dooooo]

0) s=A00)0000000I(s)=[0,1)000;

Fig2: (&SRR ORERD AR & p=(1/2,1/4,1/4),
a— K77y Xy h&Z={0,1},

1) 000I(s)CJ(k)OO Ok (keX)0000000000

2) J000qUO00I(s)0 MOUOODOUOOOOOae
{1,2,---,M}000000s=se000000000O0O0OO

22 Q000000000

X00000X={eb}000000000000000X
000000 P(X =a)=3/4, P(X=0b)=1/40000¢
0D0x00 Y(Y*00000000)00000000000
oooooon

. 0  with probability 2/3,
P 10  with probability 1/3,
11 with probability 1.

br—

O 111) | J(b)

[g % I(1) (20) 3/4
0 1 J(@)
[f }a ©

0

Figd: BHRIRORESRSHR % p=(3/4,1/4),
I—-RK7N7 7y h%EZ={0,1},
B4yt % q=(1/2,1/2) £ 5.

Fig3: FFoAR

00000000 ¢000000000000000000
Figd0 ¢ 000000000000000 00000000
02/30,10000 1/3000000000000000 00 10
000000 00000000000000000000000

[Dooooo]

0) 000000 X =k € {1,2,---,N}00O000O0DOO
J(k)ODOOOOJ(k)ODOUOODOr00oOO

1) s:=Xx (00),
I(s):=[0,1) 0000

9) 00 0I(s)CJ(k)DOOOkOOOOOOOOOOOOO
sgiboobodooboooooboobobooooo

3) I(s)0 MOODODOOO I(sj) (j=1,---,M)0000
oo
rel(sa) 000000 000000
s:=s¢000000000000000

3 000

goooooooooooooooooooboooooDon
gooooooobooboooooboooooobooobooooo
goooooooa



